: (Vvig® ) (lWVE

MCH/0V'E

@ RPUVIADEDT cx
EENRAL—XTY |
60} /éob 7 éo)@ ° 5*
|
iR BE|C s
(POSS%,E.?{) ml— %mﬁlhﬁmtggjo
e -
__ BT TN -
HERRR
_ PE
[ JErn
1EE el g8FE
1 i .
F F 0%
1] PN - BEEFE
R - Vi T
e —c— > FvA8—
S FE
__ 24
H7-1)-
\ 1l )Y
A ViR (VA il
FG
o
e va A%
OCTEIRINS—(RZ) ZEDIFRDTETT, gf‘;_
440(; XEOMBEIFIMCHOY(MCI901)TY o =
g‘ﬂ?g’_’t RILNDwYv-FyMF(SUS304) T,
(264*5”) 50mm-60mmAHS —DMEIFERTY, LIHA
. 75mm~100mmAAS—[FRATVUATY, o
vy
R WEFE
wWRI—K | YAX| A B c D E F G H M ~ruvy | as | BHE B2 TE é;‘/ﬂ
SMP-0502 | 50mm | 50 8 13 12 8 15 3 6 SUSI0S | #e0822 35g| 70k | 3,110
SMP-0602 | 60mm | 60 14 17 20 17 2 2 10 Sa3308 | 620022 70g | 100kg | 4,490 KF=
SMP-0752 | 75mm | 75 16 27 21 15 3 8 12 120g | 150ke | 6,330
SMP-0902 | 90mm | 90 18 27 21 15 3 8 12 ;SAL{SEE% #6022z | 1708 | 200ke | 8,050 BEFE
SMP-1002 | 100mm | 100 20 27 21 15 3 8 12 210g | 200k | 9,320 o
: RiEERE
Vighy o
m2J1—K |91Xx| A | B | c | D | E| F | G |H | K | o8 | ~ruvy | ge | BHE #2000 ;%W—
SMP-0505 | 50mm | 50 | 11 13| 12 8 15 | 3 6 3 5 | SUSS | sg0szz 30g| 70| 3,110 b_
SMP-0605 | 60mm | 60 | 14 | 17 | 20 | 17 2 2 10 3 | a5 | 593398 | 62002z 65 | 100k | 4,490 LU
SMP-0755 | 75mm | 75 | 16 | 27 | 21 15 3 8 12 3 | 55 110g | 150k | 6,330 DA%
SMP-0905 | 90nm | 90 | 18 | 27 | 21 | 15 | 3 8 12 | 3 | 65 fﬁgﬁgg #6202z | 150g | 200ke | 8,050 F#
SMP-1005 | 100mm| 100 | 20 | 27 | 21 | 15 | 3 8 12| 3 | 75 190g | 200k | 9,320 g;—
B
VvEY —
R - % N, S | F2lEmE]  RARE
BRI-R | H0X| A B € D E F G H [ oy |APuvy| aE | BER SEI
SMP-0509 | 50mm | 50 n 13 12 8 15 3 6 3 SUSa0 | #6082z 30g| 70k | 3,110 e
SMP-0609 | 60mm | 60 14 17 20 17 2 2 10 3 Sa308 | 620022 65g | 100k | 4,490
SMP-0759 | 75mm | 75 16 27 21 15 3 8 12 3 1108 | 150ke | 6,330 ;\%fﬁg
SMP-0909 | %0mm | 90 18 27 21 15 3 8 12 3 3%222‘5‘ #62022z | 150g | 200kg | 8,050 | ———
SMP-1009 | 100mm | 100 | 20 27 21 15 3 8 12 3 190g | 200k | 9,320 T=

RN7PUVI DY A X(EP264SHR. MIV-Fvh DY A X ([FP2658ER.

131



